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1.

Instructions:

(i) Read all questions carefully and answer accordingly.

(i) Question paper consists of 3 parts.

(iii) Scientific and non-programmable calculator are permitted.

(iv) Do not write any information on the question paper other than Roll Number.

PART A - MCQ
ANSWER ALL THE FOLLOWING QUESTIONS 10 X2 =20M

T0e3 ev33 Bdd wTAO:
03798 B0TBIIY, 2aeedTD 23,0 Fe3TD?

a) 3,3 (CO3,C01) [Knowledge]
b) 203

C) Seayesy; B3

d) 23ededad

2. 20MdD INFTI0 B)3eB

a) 3¥3nie (CO3,C01) [Knowledge]
b) eeyrie

c) d)déd)dﬁ?

d) 239,® oa3rie
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- 790 Jea3dT WP BpewT FOITB, JeDS SRV O VF?

a) Be3 30 (CO1) [Knowledge]
b) Sndzv

C) BOBS Zedabo)

d) 39,00

- @0 Bed .

a) QoD (C0O2,CO1) [Knowledge]
b) B3
C) &3
d) 8%,

- RUMIT D83z R)TReHBTodb NI BT e)z%éoi)md DOBDT Vot38 B BeX3adw Oade?
a) x° (C03,C01) [Knowledge]

b) @0
C) @B
d) QuBTRD

SRS R ALA) 36’2)5 (o70%H)
a) Zrd) (CO3,C04) [Knowledge]

b) 23
C) ey,
d) 23

. DB BaEbEeRd B0BE AWITh?
a) »eored (CO4,C0O3) [Knowledge]

b)3,3
C) 23p03ed)
d) evas

. ROMIT V3B cSe)z% 0 B ATI m&%s D3N edded), ROMeS DR
a)3,3 (C03,C04) [Knowledge]

b) evas
C) 23R
d) 3
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9. B0 ZedabY) DR SR
a) 2y, D3,

10, 3YS DY 1 ©0za0
Y

ANSWER IN ONE WORD

1. SR, D, 0T BoRBSeTHT 03590, FTODIT?

12. 3593 88 O eden w3OBen 00 BePTH?

13. 3dodwede) © 3BabheIedEor) SredrD 3 OobD, Bert VI TD?
14. ©ORDBRHTIT 2)FeT ez oY) Srecdobe)?

15, a3 WP o) BORID B IPDAZDH?

PART B
ANSWER ALL THE FOLLOWING QUESTIONS

(C0O4,C02) [Knowledge]

(CO4,CO1) [Knowledge]

5X2=10M

(CO3,C04) [Knowledge]

(C0O3,C01) [Knowledge]

(C0O4,C0O1) [Knowledge]

(CO4) [Knowledge]

(CO2,CO1) [Knowledge]

2X5=10M

16. 3YAS 2 DB arodh adredrt FeLBD 20T, VoBIFBRBN IBOX. (2Qx5=10M)

a. L@ee, IIM MBS Be39 RQedRe? TGS Aabrivy B Vo3 IF D, ¥o?

b. “@0)de JoBID dTZeabD el IOWNTD). e 20”

C. “m3e9,00) IR, o) 53Fen FUT ZRLT0, AP 0ITITD) 98 BYINE, woGT BaeoH!

(C0O2,C0O3) [Comprehension]
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17.

18.

19.

20.

21,

ANSWER ALL THE FOLLOWING QUESTIONS 4 X 10 =40M

e3. JpBJabho3 w3dd.

A. 3¥NS arPYTeBD 20T VBT 2IeToGE WTAO: 1Qx10M=10m

036 F70T O3 BeeNeS

OBe30TZ JowoGBadrey ? 33V e FYab Fodd FEWB TP GVE),

B30T JoworBae ? HTed,Bons,adwe Ihricdue oBedonE Joworsadrey.

Zlafar)

DR, Srecdodowd B, Byeadhabe.

Dy Sreodabhowd ey Srecdobe).

ey Syeododhod ey Srecdode).

I3 Swodes sTabe Sreod Seome MEed,o (CO4) [Comprehension]

B. 33, 7ori RPerriodd: (1Qx10=10)

Bes WOBR, (CO4) [Comprehension]

C.39NT o0 @bVt £33 €3 0TAO: (2Qx5=10M)
3,3, 838,a793, 3, Be3D
(C0O2,C01,C0O3) [Comprehension]
D. 8 3)3 S0Wab(aePwerd 93, ed): 2x5=10
BB0Q), OB, FeSIPD DTereds
(C0O3,C04,C0O2,CO1) [Comprehension]
PART C

ANSWER ALL THE FOLLOWING QUESTIONS 2X10=20M

3YNS AreYmeddh odwd BF RO BTN evB0: (2Qx10M=20)

a. IRT-ZeeNS DI FOBA-0VF), 0D SO, DI B3,E [owoET VWS ST,
OB FBRY 8BS

b. Se3h BROIIDE wob) BOFRVS wriadry ABOD

C. 0,3 Bomd Bomiesd B0,T8 20T Bewed 59060 ©0BrvR) IS0

* ok ok ko (CO4) [Appllcatlon]
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